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'.Ti_mé_:"l'l_l'rée-}loul‘s‘ L o -'V-Max_imur_r_l' 1100 marks
_ | . Answer ALL questions.
© PART A— (10 x 2= 20 marks)
1 e Wi‘ifié Sﬁo:i;'i:"ﬁ'étéé"'cn' ranging. - | :
2 o ‘Differentiate between' Engiﬁeer’s chain ém_:i reve.n.u.er chain. _
3. A length of a line measured with a 20 m chain was found to be ‘72570 m. R
o Calculate the true length of the line if the chain was 10 ¢m too long. ' BT
4. -What aré the sources of local attraction? o -
5.

N Namé, different kinds of bench .marks:
- Whai; are the types of staffs?
‘State the uses of contours.

What is cross — sectioning, state its application. |

What is meant by substance bar?
What are the different systems of tachometer survey?

PAR’I‘ B—(5 x 13 = 65 marks)
(a) - Explain the pfinciples adopted in the"cn‘)nstrﬁci':'ioh.of vernier sdaies_.

Or

‘® A distance of 200 m was measured by 30 m chain, later on it was detected -

that the chain was 0.1 m too long. Another 500 m (ie., total 2500 m) was
. measured and it was detected that the chain was 0.15 mm too long. If the
length of the chain in'the initial stage was correct, determine the exact
length that was measured. o (13)
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12. (a) The following bearings'were’ observed in running a closed traversé :
Line F.B B.B

AB  75°5  254°20°
BC 115°20° 296°35
CD - 165°35 345° 35
DE 224°50° 44°5
EA  304°50° 125°%

At what stations do you suspect the local attlactlon Deteumne the

correct magnetic bearings. It declmatlon was 5° 10 E what are the true

 bearing?
(b) (i) Whati 1s two point pmblem and explam w1th neat sketch , '(6)
' .-__(ii) Explam with sketches, the follcwmg methods usmg plane table '
() Radiation. . o ®)
2 Intersectmn o | R 4)

.18, (a) _The followmg consecutwe readmgs were taken with a dumpy level : _
6.210, 6.920, 7.120, 8.420, 9.810, 6.630, 7.90, 8.26, 97IOand 10.210.The %

. level was shifted after 5th reading. The R.L at first. point was 100.m,

Calculate the RL of the pomts and apply the anthmetlcal check (13)

(b)  The followmg consecutive 1ead1ng wele taken w1th a dumpy 1eve1
L _'1904 2.653, 3.906, 4.026, 1.964, 1.702, 1.5692, 1262 2542 2.0086, 3145
. The instrument was shifted after fourth and elghth readings. The first

.. reading was taken on the staff held on the B.M of R.L. 100 m. Calculate .
- the R.L of the points and apply the a11thmet1cal check. o ': (13) -

14. ‘, (a) - Determine.the area for the foilowmg obselvatmns by (1) T1apez01dal rule
(i) Simpson’s rule. . SR _ _ (13) .
Ordinate :° 0: "0z 03 O _. .._:.0_5 ..:_.0.6 .07 0g O -

Distance (m): . 0 . 50 100 150 200 250 300 350 400
Offset (m): - 10.6 154 202 187 164 208 224 19.3 17.6
OI' . T .
(b) A series of offsets were taken ﬁom a chain line to a culved boundary line
at intervals of 15 m in the following order. 0, 2.65, 8.80, 3.75, 4.65, 3.60,

495, 5.85m Compute the area between the chain line, the curved .
: ’boundaly and the end offsets by (1) ave1age or dmate rule (ii) Trapezoidal -

‘rule and (111) Snnpsons rule, o . L (13)
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~ (b)

)

Eixplain how would you measure with a theodolite

(i) Deflection angle

- - (iD) Ma‘g.netic bearing of a 'line.‘

- Or

Followmg lengths and bearing were recor ded in running a thecdohte
traverse in the counter clockwise dnectlon the Iength OP and bearing of

PQ having been omitted.

Line Length (m) Reduced beanng

MN 2814 S69°11IE
NO 1204 = N2IP49E
oP - NIPSW
PQ 1424 -
QM 170.2 - S T424W

_Detenmne the length of OP and the bearing of PQ

PART C—(1x 15 = 15 marks)

Write a case study on contour;mappmg; of hﬂly terre‘éin. B (as) ... ..
, "'Or o _
Explain in detail about the tlavelsmg method adopted f01 a river and a
lake with sultable sketch - : | (15)
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